n
2

£ - - 2 .
T rw=ygety,  where

g =2,g'4) =3, /(2)=1,/'(4) = -6, ['(2) = =2
o Flx) = %ﬁuf)+%[F@“”]
CE:@T;?W,ITJ ;ﬁ(ﬁ(‘;("‘))—k IF)L(?O(?Qeﬁ (76)'29@

) none of the above FF (J C )('2_) 3 + 2_1 ’{,\\ (30(\,\)5 Sk‘zl)

F%@) /£(50ﬂ)-r34;(90“5  9°(4)
ﬁ%(:ﬂ L& EY LY =3
(1) + g (-)(=3)

;I+L?8':LH

) K :c3—y3:i then find y”(_ifﬂ: IZ
% ¢} gt 9
) ~ = L3 T T :
- 3T _34Y = O > Y
= z

(b) ~3J7/8 kj\\ 29¢ \j — Zﬂb x* g;z;jlr ‘?_"")[’52’"2 )11
> 54 I
& 3
Z)) TZ/? ,213')’ _2xt AR (7\3"\3 )
~3/7/64 = ——— = !_\ES_‘
) none of the above lj :
o A |
3 = “ Erh R
T ox= Y7z D (N7 ) Y . B
4__‘_> - rkgl = \ ::) Ej =
“59:~l
1€ (x, «ﬂ (rﬁ/n,) 5 =) 2'5 =3 3 [5
< («2) / R (ISP g
PR = SErL
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MATH-101 Ternt-131 IN-Class-QUIZ-7

(show all your work and circle one letter to get a full mark or you will get zero)

b
Iy ‘ e inen B,
F{x)=tan{x+ 5)&;«:(2;\») jw\(_ 1{) _
(@ S16v 206+ 5
(b - 32\!1!,-(32 +7)
©)  -2d2/@2+ 7Y
(d) N2/ 2
(¢ 16v2/16+ %)
(t) none of the above

.(r':\(%) s Sec (R%FL)CQC('?_‘:{)QFQCSL(lK) (0{\
| etn (Kﬂ‘%)

(‘Ei) (%) (G —uscEE)e Yo ()
(M (-0) =2 (-1 () (1)
(?J(w-ﬂ = =



